Marked text



1 The claim that what makes killing wrong is the loss of the victim’s future is directly supported by two considerations.  2 In the first place, this theory explains why we regard killing as one of the worst of crimes.  3 Killing is especially wrong, because it deprives the victim of more than perhaps any other crime.  4 In the second place, people with AIDS or cancer who know they are dying believe, of course, that dying is a very bad thing for them  5 They believe that the loss of a future to them that they would otherwise have experienced is what makes their premature death a very bad thing for them.  6 A better theory of the wrongness of killing would require a different natural property associated with killing which better fits with the attitudes of the dying.  What could it be? [7 There could not be a better theory of the wrongness of killing.](355).



Diagram







Premise indicator.  Everything after it, up to the “second place,” is somehow a premise for the main conclusion.





I should underline not only this premise indicator but the rest of the paragraph following it—but that looked messy.








You have two good clues that this is the conclusion: it is the topic sentence and there is the premise indicator.








Look for restatement!





I think the “second place” reasoning goes nearly to the end of the paragraph. But I’d give full credit if you thought the second place reasoning was only sentences 4 and 5, so long as you still made 6 a premise.





I did not mark this premise indicator, because it is not marking a premise of the argument I am diagramming.  It marks a premise of an explanation; the whole explanation (because it is “better than any other”) is a premise of the argument I am interested in.  This sort of situation—an explanation inside of an argument—is worth remembering, because it happens often.





Notice how I rewrote the rhetorical question and then struck it.





You could just as well break sentences 2 and 3 into two linked boxes, likewise sentences 4 and 5.





6 A better theory of the wrongness of killing would require a different natural property associated with killing which better fits with the attitudes of the dying.





4 People with AIDS or cancer who know they are dying believe, of course, that dying is a very bad thing for them.  5 They believe that the loss of a future to them that they would otherwise have experienced is what makes their premature death a very bad thing for them.





2 This theory explains why we regard killing as one of the worst of crimes.  3 Killing is especially wrong, because it deprives the victim of more than perhaps any other crime.





1 The claim that what makes killing wrong is the loss of the victim’s future [is the best theory of what makes killing wrong; in other words, 7 there could not be a better theory of the wrongness of killing.]








Be sure your conclusion is written as a complete declarative sentence.  The words you add or delete don’t have to be exactly the same as mine, of course.








